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Choose one of the five answers for each of the 40 questions and put it next to the question number in the front page. All figures are rounded to four decimal places.

►  Following table shows the calorie loss of a sample of 50 healthy adults who ran in    

      race:

	Class interval
	Frequency

	1.20 - 1.29
	K

	1.30 - 1.39
	7

	1.40 - 1.49
	12

	1.50 - 1.59
	20

	1.60 - 1.69
	8


	    1)
	The value of the missing frequency K is

	
(A) 0

(B) 3

(C) 2

(D) 50

(E) None is correct


	

	   2)
	The percentage of adults losing calories less than or equal to 1.49 is

	
	(A) 10%

(B) 12%

(C) 44%

(D) 56%

(E) None is correct



	   3)
	The mean calorie loss is

	
	(A) 1.491 

(B) 50
(C) 20
(D) 74.55
(E) None is correct



	   4)
	The variance of  calorie loss is

	
	(A) 0.1110 

(B) 111.7

(C) 44

(D) 0.0123

(E) None is correct




►
In a certain hospital, it is known that 10% of the staff members are smokers. A random sample of 5 staff members is selected at random. Let X represents the number of smokers in the sample. 

5)
The probability that there will be exactly one smoker in the sample is:

(A) 0.3281
(B) 0.0256
(C) 0.6719
(D) 0.4096
(E) 0

6)
P(X<5) =

(A) 0.9984
(B) 0.0016
(C) 0.6719
(D) 0.00001
(E) 0.9999
7)
The expected number (mean) of smokers in the sample is

(A) 5.00
(B) 0.5   
(C) 1     
(D) 0.64
(E) 0.20

8)
The variance of X is :

(A) 1.00
(B) 0.20
(C) 0.45
(D) 0.55
(E) 0.64
►
Suppose in an emergency room that X= the number of emergency cases in an hour  follows Poisson distribution with a mean  of 3 emergency cases per hour. 

 9)
The probability that there will be exactly seven emergency cases per hour is (A)  0.0892     (B)  0.9502       (C)   0.3012        (D)   0.0216      (E) none is correct

10)
The probability that there will be at least one emergency case per hour is 

(A)  0.9502    (B)  0.0498      (C)   0.0149     (D)   1.0000      (E) none is correct

11)
The probability that there will be at least two emergency cases received in a period of ten minutes is

(A)  0.1839    (B)  0.9098      (C)   0.0902       (D)   0.9826       (E) none is correct

12)
The probability that there will be one or two emergency cases received in a period of two hours is

(A)  0.0505    (B)  0.0595       (C)   0.0023      (D)   0.0015       (E) none is correct

►
The average length of stay in a hospital is useful for planning purposes. Suppose that the following is the probability distribution of the length of stay in a hospital after a minor operation:

	Length,days
	3
	4
	5
	6

	Probability
	0.2
	0.3
	0.1
	k


13)
The variable is

(A) continuous  (B) discrete (C) qualitative (D) all are correct  (E) none is correct

14)
The probability that the patient will stay 6 days in a hospital after a minor operation is equal to: 

a) 1            (B) 0.2        (C) 0.05          (D) 0.4        (E) none is correct

15) The probability that the patient will stay at most 4 days in a hospital after a minor operation is equal to: 

(A) 0.3            (B) 0.2        (C) 0.5          (D) 0.15        (E) none is correct

16)
The average length of stay is: 

(A)  4.7     (B)  0.17       (C)  3.3          (D) 4.5          (E) none is correct

►
If X, the count of red cells in blood, is approximately normally distributed with a mean of 4, and a standard deviation of 0.5. Then  

17) P(X < 3 ) =

(A)  0.0228       (B)  0.9772        (C)  2       (D)  -2       (E)   none is correct

18) P( 3.5 < X < 5.5 ) =

(A)  0.3994       (B)  0.84        (C)  0.16       (D)  0.3446       (E)   none is correct

19) if  P( X < k ) = 0.0019 then the value of  k is

(A)  -2.55         (B)   - 3.415       (C) 2.55          (D)  3.415           (E)   none is correct

20)
The value of Z0.4443 is 

(A) 0.7007     (B) – 0.14
    (C) - 0.6100      (D) 0.0301         (E) none is correct

►
The random variable X has a normal distribution with mean 10 and standard deviation (.  

21) Find  P(  10  - (  < X <  10 +   ( )

   (A)  0.6826     (B) 0.5      (  0.8413     (D) 0.1587      (E)  none  is correct

22) Find  P( 10 – 2(    <  X  < 10 + 3(  )

     (A) 0.9987     (B) 0.0228      (C)  0.9759      (D) 0.3     (E) none  is correct

23)  Find   (   such that  P( X > 13 )  =  0.0668
     (A) 1      (B) 2       (C)  10        (D)  13        (E) none  is correct

24) Find  P(X = 10).

    (A) 0.5         (B) 0.0         (C ) 1.0        (D)  0.3             (E) none  is correct

►
Suppose we have a continuous random variable 
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(A)   0.3                (B)   0.5             (C)   0.7          (D) 0.22     (E) none is correct
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(A)   0.3                (B)   0.5             (C)   0.7          (D)     0.22     (E) none is correct
27) 
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(A)   0.4                (B)   0.6             (C)   0.3          (D)     0.28     (E) none is correct

28) 
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(A)   less than 0.3     (B)  more than 0.3     (C)   0.5    (D)   0.2   (E) none is correct

►   The  following table  shows 80 patients classified according to their blood sugar  

       levels and sex . A patient is selected at random from the 80 patients, then

	
	Sex

	Blood sugar level
	Male (M)
	Female (F )

	Low ( L )
	30
	10

	Normal  ( N )
	20
	5

	High ( H )
	8
	7


29) The probability that the patient selected is a male and has a high blood sugar level    

      is:

 (A)  0.10              (B) 0.125          (C) 0.208        (D) 0.375         (E)    0.25              

30) The probability that the patient selected is a female or has a normal blood sugar level is:

 (A) 0.25            (B) 0.2917         (C) 0.6667        (D) 0.7083      (E) 0.525                 

31) If it is known that the patient selected  is a female,  the probability that she has a low blood  sugar level is:

 (A)  0.25              (B) 0.4545        (C) 0.2086        (D) 0.50        (E)    0.125              

►  Let A and B be independent events defined on the same sample space such that P(A
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B) = 0.8 ,   and   P(B ) = 0.3 then, 

32)  P(A ).

     (A)  0.40             (B) 0.30          (C) 0.20        (D) 0.12   (E)    0.7143                  

33)   Find the P(Bc / A).

 
(A)  0.70              (B) 0.65          (C) 0.12          (D) 0.20     (E)    0.80                 

►   In a study on the birth weight of Saudi babies, 1075 just porn babies  were weighed . Their sample mean was 3.24 kg and the sample standard deviation was 0.46 kg. The population mean of birth weight  is µ, then .
34). The point estimate of µ is:
 (A) 3.24  kg        (B) 1075 kg             (C) 0.46  kg          (D)  33 kg    (E) 331.79 kg       
35). An upper limit of a  95%  confidence  interval for  µ is:
 (A) 0.4325 kg         (B) 0.4875 kg           (C)  3.2675 kg   (D) 5 kg    (E) 6 kg      
36) A  lower limit of a  95% confidence interval for µ is:
  (A) 0.4325 kg       (B) 0.4875 kg           (C)  3.2675 kg   (D) 5 kg          (E) 3.2125 kg 
►  In a study of the incidence of back pains for men aged 55 and over in  a certain city, it was found that 30 out of 600 men selected, have back pains. The proportion of men aged 55and over in the city with back pains is π  then, 
37) The point estimate for π is
 (A) 400            (B) 50        (C) 0.05         (D)   0.125           (E) 20              
38). An  upper limit of a 90%  confidence interval for π is:
 (A)  0.0814
   (B) 0.0646        (C)  0.9679
 (D)   0.0879         (E)  0.2522      
39)  A  lower limit of a 90%   confidence interval for  π is:
 (A) 0.0354    (B)  0.0160    (C) 0.0221       (D) 0.9321          (E) 0. 9578       
►
40) A random sample of size n = 20 is taken from a population which has the normal distribution with   mean 5  and standard    deviation  3, then   P (
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 > 4 ) is:
 (A)  0.1587      (B) 0.9319    (C) 0.0681      (D) 0.4413      (E)  0.3087    
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